
 
Latest Revision: 8/14/2023 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 1 of 6 

Product Packing List 
Product:    SDHQ-10-1133-AC 

Description:  SDHQ Built 2015-2020 Ford F150 and 
2017-2022 F250/350 2WD SP9100 Keypad Mount 
 

  (1) Keypad Mount               SDHQ-10-1133-AC 
  (1) Hardware Package             SDHQ-10-1133-AC-HP 
   (2) #8 x 3/8” Thread-Forming Screws 
   (4) #6-32 x 5/16” Button Head Bolt 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Inspected and Packaged By:        Date:      
 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 2 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 3 of 6 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-10-1133-AC 

Description:  SDHQ Built 2015-2020 Ford F150 and 
2017-2022 F250/350 2WD SP9100 Keypad Mount 

 

 
 

Tech Notes 
 
 

Approx. Install Time: 1 Hour (Not including wiring) 

***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

Parts List Hardware List Required Tools 
(1) SDHQ Keypad Mount 
     SDHQ-10-1133-AC 
(1) Hardware Package 
     SDHQ-10-1133-AC-HP 

(2) #8 x 3/8” Thread-Forming Screw 
(4) #6-32 x 5/16” Button Head Bolt 

Phillips Screwdriver 
Plastic Trim Tools 

5/16” Socket or Wrench 
Ratchet 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 4 of 6 

SDHQ-10-1133-AC 
 

            
 

Installation Instructions: 
 

1. Un-box your SDHQ Built Ford 2WD SP9100 Keypad Mount and lay out the parts on a clean 
table. Verify all parts are present and familiarize yourself with all the parts. 
 

2. Begin by removing the speaker grill if equipped on the center of the dash board using a plastic 
pry tool. Otherwise there is a rubber liner that needs to be removed. Then remove the (2) 
screws found on either side of the speaker or rubber liner using a 7mm socket.  
 

      
 

3. Pull the plastic panel above the radio, shown above, out using plastic pry tools. There are (3) 
clips in the front of the panel. There is a wiring harness connecting to the bottom of the panel 
that needs to be disconnected. 
 

4. Then using a 7mm socket remove the (2) screws found at the top of the radio bezel. Using a 
plastic pry tool remove the radio bezel from the dash. 

  

      
 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 5 of 6 

5. Remove the lower radio bezel by removing the (2) screws using a 7mm socket. If equipped 
with a Bench seat skip to Step 8. 

 

   
 

6. If equipped with a Center Console, remove the Flow 
Through panel using plastic trim tools release the rear of 
the panel under the center console lid. Then pull back on 
the trim to remove it from the console.  

 
7. Remove the left dash air vent trim, there may be 

electrical connectors on the panel so be careful when 
removing. Remove the coin holder from the panel and set the panel aside. 
 

   
 

8. Install the Switch Pro into the Keypad mount and use the supplied button head bolts to attach 
the keypad to the mount. Install the Keypad mount onto the panel using the supplied Thread 
Forming Screws through the factory panel holes. 

 

     
 

9. Reinstall the removed plastic panels and screws, refer to the previous steps to complete 
installation. 
 

10. Enjoy your SDHQ Built Ford SP9100 Keypad Mount. 
 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 6 of 6 

 
***Double check all hardware is installed correctly and tight*** 

 
***Re-torque ALL bolts after 100 miles*** 

 
 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
www.sdhqoffroad.com 

 
 

Follow us on: 
 

 Facebook   Instagram 

mailto:help@sdhqoffroad.com
http://www.sdhqoffroad.com/

